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Please print out this form (two-sided, if you can) and write your answers legibly in the spaces provided. If you can’t write legibly, type.
Consider two mobile hosts in a foreign network having a foreign agent.  Can the two mobile hosts use the same care-of address in mobile IP?  Explain your answer.







List two important differences between 2G cellular networks and 3G. List two important differences between 3G and 4G networks. 







Mobile IP involves what is called “triangular routing” with packets from the source node to the mobile node transiting through the mobile node’s home agent, but return packets sent from the mobile node to the source node proceeding directly.  There have been proposals for making packet delivery symmetric, i.e., have packets from the mobile node and destined for the source node also transit through the home agent using a reverse tunnel.  Identify possible motivations for suggesting such an approach and what benefits might it offer.  Note:  You will need to do some research on the web to answer this question.
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